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[UE - X / SECTION - A
T WIT / Objective Type Questions
W W 1 ¥ 70 7% & uAE Wi & A A fawe fqw o
famd | um Wi ¥ | o g 93 U WA fawew @ OMR FE W
fafed &7 | s as T F e 3 £ 35 x1=235
Question Nos, | to 70 have four options, out of which anly one

is correct. You have to mark your selected options on the
OMR sheet Only 335 questions are o be answered, 35 % 1 = 35

T ST SN A [, S e & A g 22
(A} anfds yma (B)  wfaam e
(C) AT Y (D) i sprE

Tourism Geography and Resource Geography are the sub-
branches of which field of Human Geography ?

(A) Economic Geography  (B) Settlement Geography

(C) Urban Geography (D)  Political Geography
Ermfafraa i # Fm 3umm safam g § vl o

() T e (B) o ud fram

() Adm fae (D) T~ AT

Which of the lollowing approaches was popular in colonial era ?
(A Spatial nreanisation (B) Exploration & description

Regional differentiation (D) Post-modermsm

<€)
et Frm W # A E 2 |
(A)  afto s (B) ufmm
(C) HATH] (D) T{fl'q
in which continent do Hottentots live ?
(A) South America (B) Asia
(C)  Africa (D) Europe
703/12029 Page 3 / 24
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o § 4 g i ot A S

TEEYY FE &
(A) HHE gIgAT (B) ST
(C) @i & I (D) T S

Which of the following is the most important factor in the

y ‘ : 2
interaction between people and environment :

(A} Human intelligence (B) Technology

(C)  People's perception (D) Humarr brotherhood
Fofefed § & w1 gmfys yie | T 8 2

(A) 9 g (B) WEIHA e

(C) Wi e (D) &= T

Which of the following is related to Social Geography ?
(A)  Agriculture Geography (B) Resource Geography
(C)  Cultural Geography (D) Military Geography
Al 7 & fere A s fEe d wfi o

~af s ~Bf 117

() 15ad (D) 7 ad

What should be the minimum age to measure literacy ?

(A} S years (B) 11 years

(C) 15 vyears (D) 7 vears

U HEi0q 2

(A) =mR (B) e A

(C) ®EWH (D) 39§ %1 7
Bushman is associated with

(A)  Thar (B)  Kalaharj

(C) Sahara (D)

None of these
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frafafaa @ 5 F g qm @ 2

(A)  =uifed ams sam N I RUER
(B) 9 fauin 3 — AT

(C)  aggE fmmm zem — A

() @r-gEq 3am _ fyema

Which of the following is a correct match ?

(A)  Automobile industry — Los Angeles
(B]  Ship building industry — Lusaks

(C)  Aurcralt manufacturing industry — Florence
(D) lron and Steel industry - Pittsburg
et 3 & fer ufea R

(A} s (B) At

(C) A (D) R

Famous for flower production is

(A) Netherlands (B) Namibia

(c) Brazil (D) Mexico
f.mﬁaﬁjaﬁﬁaﬁ?qymrﬁﬂq?h#ﬂﬁ? ’

(a) wen faefl (B) 2 Fewim

() I STERE (D) =feeh g

Which of the fellowing is not a mediterranean agriculture
region 7

(A) Central Chile (B)  Southern California
(C) Northern Australia (D)  Southern Europe
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13.

14,

() I i By T

) 4 -+ () fawil

Where is Silicon valley located ?

(A) San Francisco (B) Maoscow

(C)  Perth (D) Delhi

wIA AT WE IIfEd O R

(A) TR WA (B) M

(C)  =Eed (D) 3WF
Lauren-Saar region produces

(A) Iron ore (B] Gaold

(C] Coal (1) Mica
faefefaa § 8 97 wifamEr f1 23 2 2

(A) T B) ufam Ff

(C) guFh (D) =H & i
Which of the [ollowing is a result of colonialism ?
(A)  Plantation farming (B]  Mixed farming
(C)  Jhum cultivation (D} All of these

Frtferaa & # y-3mim w2
(A} Fa= "mnoam (B) W91A] 1[5‘4

(C) =4 4P T <UD @ 8 wi

Which of the following is a land-yuse
(A) Net sown area (B)

(C)  Forest land (D)

Category ?
Fallow land

All of these

[ 32
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5. AT i arel e 2

Ay TS sreferen (B) WHTETE e

©) b stdermen () e @

Individually owned economy is

(A)  Capitalistic economy  (B) Socialistic economy
(C)  Mixed economy (D) None of these
6. Freiteifias i # & fed T e A e 2 7
(A)  faEm By g
(C)  T=T=U™ (D) TaiEHA
In which of the following states are the major coal fields
located ?
(A) Bihar (B) Jharkhand
(C) Rajasthan (D) Sikkim
17 freifefad § @ & FE W E 2
(A) HeE - EE (B) T - R
) =Eng - EE (D) ¥ & W

Which of the following is a correct pair of capital ?
(A) punjab - Chandigarh
(B) Haryana - Chandigarh
(C) Chandigarh - Chandigarh
(D) All ol these
g, faefaiea H & i TR A 7
A} T B fawen
TOTH
(C) ~ (D

which of the following is an industrial city 7

(A) Jamshedpur (B) Shimla
(C) Bhopal (D) Varanasl
7 [ 24
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19. S9N & H#IY & .
(A) W B - (B) [ F’WW b
(C) Taras fwamam 4 (o) wgd fareeTd §
Trade is associated with
(A)  Primary activity (8)  Secondary activity
(C) Tertiary activity (D) Quaternary activity
20. o &1 20 % fazri 3 wra fawm quwis & f[a&E a2
(A)  WRA - Hierw (B)  Hietsh1 - g3H
(C) wifeEm - dHide (D) W@ - gIfHEA
The scholars of which two countriecs developed Human
Development Index ?
(A)  India - Sri Lanka [B) Sn Lanka - Sudan
(C) Pakistan - Sri1 Lanka (D) India - Pakistan
21. fama & wa o van fam wan 5 8 7
(A)  fawga g (B] Ay
(€] EH g (D) AT yeA
World's main seaports belong to which type ?
(A} Comprechensive ports  (B) Qi ports
(C)  Naval ports (D] Passenger ports
22, NIH ] HEH ol TP TeEn g
(A)  TAoUHo-44 (B) THougo-7
(€} THowgo-5 (D)  Wougo-qs3
The longest National Highway of India jg
(A) NH-34 (B) NH.17
(C) ﬂij (D) NH-105
703/12029]
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Frefeiea i 8 & 2 7 72 w fa 2 2
(A) 9 (B) FFT
(C) 4R (D) Wl
Which of the following cities is situated along the river ?
(A)  Patna (B) Kolkata
(C)  Srinagar (D) Mussoorie
Fier dfaw fam 1 7@ afed % o sEfem 2 7
(A) T EE o (B) AR U HE

~(Cy~ W@ Td Al (D) féy e wrEE
Between which two river basins is Narmada Basin situated ?
(A) Ganga & Krishna (B] Pennar & Kaveri
(C) Mahi & Tapi (D) Indus & Sabarmati
fifr= fA&m gran STt B ) )
() TS F A ey s 75 A
c) fav wAH (D) ¥ & FI3 TE
Manganese deposit is found in
(A) Dharwad system (B) Gondwana system
(C) Vindhyan system (D) None of these
Eﬁﬁﬂﬁpqéaaﬁﬁﬂﬂ? )
@A) i (B) m 1
) T o) fagod
Korba mining region is situated in
(A) Kerala (B) Chhattisgarh
(c) Goa (D)  Tripura
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A

(B)
(D)

(B)

ureiTg @1 T R
FH1gen 3
(C) iferam &
Numaliparh is associated with
(A)  Coal
(C] Petroleum

(D]

| 323

#fra |
3WF

Mangancse

Mica

Frsaferferm 4 & fm ton 0w S 2 2R 7

(Al
(€)

HETE
UELSIE!

(B

D] iy &e

Which of the following states has no nuclear power centre ?

(A) Maharashtra (B) Gujarat

(C) Rajasthan (D) West Bengal

TEATERHI wfEE

(A) it s F fe (B) wruen & fam

(c) wfa & fem (D) 39% & fom

Gurumahisani is famous for

(A]  lron ore (B) Coal

(€)  Copper (D) Mica

A1 g Jam wafuq

(A] =4 B) wF

(€) @4 (D) % 3§

Ivory industry is related to

(A Forest (B) Animal

(C) Mincral Dl Agriculiyre
(703/ 12025]
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31, ElEtEa 8 7 F9 wwrid wemrm § ae o are 2 7

(A)  H==E{ B fafaim
©) g (D) w
Which of the following is located on the coast of the Pacific
Ocean ?
(A} Cadbury (B) Winnipeg
(C)  Vancouver (D] Quebec
32, FrefatEs § § @9 G WEias SR T8 8 7
(A) o | (B} W
c) == & (D) @i
Which one of the following is not a natural resource ?
(A) Land (B) Building
(C) Water (D)  Mineral
13 g ER (H0 SER FEHE R 7
(A) AT HEIVA B) Afaw nnju-q |
() T HEIUA (D) HETHTITA HHTUA

" . . . -]
{ron ore is which type of resource

(A) Rencwable resource (B) Biotic resource

(C) Waler resource (D) Non-renewable resource
14 ﬁgu]lﬂtﬂmiﬁﬁqﬁﬁﬁﬁﬁﬁﬂ"i;ﬁ. |

(A) 10287 H1g (B 12101 ‘a‘m's

) 13000 EaLcs (D) 112:92 F13

What was the population of lndia in the year 2011 7

(A) 102.87 crores (B) 121.01 crores

(C) 130.00 crores (D) 112.92 crores
703712029 Page 11/ 24
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famaferfas u=ti § fagam sagEn Er:{r—nraa’rﬁ:m'a'-'

(A) " (B fagn

(€) man o (D) aifgmm

Which of the following states has the highest density of
population ?

(A)  Kerala (B) Bihar

(C) Goa (D)  Odisha

FefafEa % 4 98 94 2 7

(A) == afaemrg £ w2

(B) =8 Wi &) e B

(C) f,_i'"‘ﬂ'ﬁ-' Ush 9479 I @ o

-

Which of the lollowing is correct ?

(A)  Chennai is the capital of Tamil Nady

(B)  Chennai is a port of India

(C)  Chennai is a coastal ity

(D) All of these

Frefetiiaa # % =7 294 fermaemy & Heaf 7 )
(A} N HwiE faa (B)
(C) iz A
Which of the

FHY
(D) A

following is not related to Quatery
JUi ary activity ¥

(Al Information-basedd activity

(B)  Rescarch

(C)  Financial banking

(D)  Software service

T
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At % FHin % A watfuw @ e i @ 0w A R 7

38.
(A)  HTd (B) A
SHEA e T A
Which country gets maximum benefit after the construction of
the Panama Canal ?
(A) India (B) Sudan
(C)  Nepal (D)  United States of America
39, | o daadiE 4T AETR g 7
(A) 2008 (B) 2010
(C) 1975 (D) 2007 .
When did the Tenth Five-Year Plan come to an end ?
(A} 2008 (B) 2010
(c) 1975 (D] 2007
40, ﬁﬁ?ﬁ1ﬁﬂniﬁi3nﬁﬁ¢iﬁﬁﬁn1ﬁﬁﬂiﬁnﬁ;u{ﬁnn FTAT R 7
Rufiﬁf’H:hﬂﬂq (B) Eﬁffﬁ |
(D) 37 # 1% A

On which factor doe

s the economic development of a region

Climate

None of these

=fary i) F# 4
=H § #vi

Indira Gandhi Canal

All of these

dt:pr:mi ?

(A) Resources (B)

(C) Scarcity of water (D)
41, gﬁﬁaarﬁiaﬁlna::%

(n) EEARE (B)

(C) atfea q8l H (D)

Harike harrage s associated with

(A) Sone Canal (B}

(C) girhind Canal (D)
P

703/ 12029
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aﬁg@ﬂﬁﬂﬁﬁﬁﬁ@'ﬂ%?

(A) HEH (B) eIzt
(€ (D) ¥ § F1S TR
What is the unit for measuring noise pollution 7
(A) Centimetre (B)  Millimetre
(C} Decimetre (D) None of these
fferfan & B9 o< 9yl F1 FEO R 7
(A) ¥ g , ® SRR
I GR ~ABT A ¥
Which of the following is the cause of acid rain ?
(A)  Water pollution (B) Naise pollution
(C) Land pollution (D)  Air pollution
fem Sl 291 @ watfusm war yRa i 3 # o
y(AY” ETETeT B) AT
(€) WwHRE Y b i

From which neighbouring country do maximum migrants come
to India ?

(A) Bangladesh (B)  Nepal

(C) Maldives (D) Mauritius
sl & g wm # aneREE e fawtea 2
(A (B) 7w

= L (D) giam

In which part of Australia is

Trans-continental railway
£ radwis
developed ? ‘ |

(A) East (B] West
(C)  North (D) South
?03(’ ]2{}29 Fll.gf 14 | 74
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1. IFdododicdio a2 [323]
(A)  wuf=m S faem
(B) wufm vites fawm dom
(€)  wuf=m 3 fawm by
(D)  wwi=a s fawm g
What is LLT.D.P. 2
(A) Integrated Tribal Development Programme
(B) Integrated Transport Development Programme
(C) Integrated Travel Development Programme
(D) Integrated Tourism Development Programme
a7 FefafEd § 8 =9 T w6 8 7
(A TR @) w
) I V>
which among the following is a food crop ?
(A) Sugarbeel (B)  Coifee
(C) Tea (D}  Wheat
A8 ﬁgfaﬁgamm"ﬁﬁﬁﬂﬁfﬁfﬂw% ?
A) fims (B) wHd M
(C) P CTR s - L,ABT" FH | wl
which of the following factors is helpful for agriculure ?
A) [rrigation (B) Human labour
) Transport (D} All of these
- 703/12029 Page 15 / 24
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49, FHM S wafud - el
| 5
(A) IR U g & @1 78l

\_/_[C]"”’Eﬁ:ﬂ i@ 4

1S ussn-::iﬂtr;‘d with
(B) Copper

None of these

Bassein reglon

(A] Iron ore

(C) Mineral ail (D)
50. wforre wfeE B N
(A) @il & e (B) HE *_rﬁq
)] = fman & fom (D) ¥EUAH ferm
Manipal is lamous for
(A) Copper (B) Clock
(C)] Higher education (D)  Pollution
51. @Tde fEg 2
iy wE E R B) W & fen
() T F fer (D) = & feu
Brazil is famous for
(A] Coffee (B] Cotton
18] [EHine (D) Flower
52, st I #
N R S fe B) 1wz & e

(€) = wgum % fem B i & m

Industrialisation is responsible [or

(A)  Noise pollution (Bl Air pollution
(C) Water pollution (D) All of these
__——"'f-’.-,::
703/ LGgﬂ page 16
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-3, frefafa § @ 15 §o0 sd@m # 3TEW R 7
(A)  EUEE I (B)  ee-gema Ian
1C) — GAEEA T . () 3Em
Which of the following is an example of cortage industry ?
(A) Handloom industry (B) Iron-steel industry

(C) Cotton-textile industry (D) Sugar industry

54. ﬁmfaf@ﬁﬁﬁaﬁﬁmqh—uzﬁﬁfﬁmﬁ?

(A)  forerm TR B - Tl e TR

() Taranferd i oy e @

Which of the following s located in Karnataka ?

(A]  Shevaray hill (B) Baba Budan mountain
(C) Siwalik range (D) Aravalli range

55 hﬂfﬂfﬁdﬁﬂﬂfﬁmﬂaﬁaﬂﬁ safierd & 7

(A) Ilgl.?: (B) ATl
c) FAR s\ _pr i
which of the following cities is lotated 1n the extreme north 2
(A) Madurai (B) Nagpur
(C) [tanpur (D] Ludhiana
o, efaiEn ol @ Y el e 0 R
A A (B]  #ETE
et () g

which of the following rivers is1n South India #

(A) Indus (B Brahmaputra

(C) Godavar (D) Gandak

- 703/ 12029
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57. et i v w79 AT AR T
s
(A)  Efareh o 18] e

, . EELL
(C]  wiEd TH 74 ] NS

| S : servation
Which of the following is related 10 water conser “

(Al Hariyali (B) Niru-Miru
€} Arwan Pani Sansad (D} All of these

58. oM fafy wig fau o= d wEfEm 2

(A)  faem (B) A

(C) HF“TT. (D] HETE

[n which state is Ralegan Siddhi village situated ?

(A} Bihar (B)  Punjab

[l;:‘] Manipur (D)  Maharashtra
59, wiem uiwg R

(A &aT & fom (B)  #MF fao

(©) e s & fer (D) Al & Fequ

Kolar is famous [or

(A} Coal
(B Giole

. (D)
60. arizunrrﬂnﬁﬁfﬁmymm

(C)  Iron ore
':{.J[lpr_'r

v A—"242 Femi e aY -
(Bl 950 i fmam oy
(€)' 980 tomi /zam gy
(D] Rus ffrII'-IT,r' GRILA e

 mmE—

f‘.l_gr 18 34
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Sex ratio in India in the year 2011 was
(A) 943 females/ 1000 males
(B) 950 females/ 1000 males
(C) 980 fermales/ 1000 males
(D) 895 lemales/ 1000 males
61, Sagw fem gu & gy § EN R 7

(A)  dee B) @I
(€) s (D) Trs

Latex is made from the milk of which tree ?

(A)  Peepal (B] Datc
(C) Rubber (D)  Palm
6o fawfaw @ gy HE R
LA @) T
© ) D) @

The main source of Raisins (Kishmish] 1s
(A) Grapes (B) Tomato
(c) Olives (D) All of these
6a.  famferfian @ @ qHlES %5 T2 W B 7
(A)  HATTH ) - fuferes
qﬁm > (D) HifHFER

Who among the following does not do mental labour ?

(A) Teacher (B) Doctar
(C) Washerman (D) Musician
703/12029 Page 19 / 24
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64. Facifefian & & fam 2 8 Teinrd 781 €

(A)  FTEiEl (B) T

(C) FTmH (D) A9

| ' : ; : atlway
Which af the following countries does not have railway ?

(A)  Australia (B) Kuwai

(C}  Japan (D) Nepal
65.  F2ME wile WaER @H & dE fF TR E 8 7

~AA) e (B) 9AE

(C)  FAleH (D) A

With which state is Kudremukh iron ore mine associated ?

(A} Odisha (B)  Punjab

(C) Kamatak:
| o LM Ikl. [D] EI‘UHHIHHH
66. T&m @1 gmmy fen i g -3

(A)  ®1g= -t
! BT 3t

D) A

With which mineral iy Singaren;

(CI  #m

Associate p
(A) Coal

B) Uranium
(C) Diam
- i Ljnd {[” f\!iil'l:._-“”"_ N
67. fi%ﬁﬁﬂﬁﬂﬁqwﬁqﬁ{may e
(A) WifaF g

C ; ¢ BV
(C)  Hem .

Page 20 / 44
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Which of the following is associated with rice ?

(A}  Arabica IB) Basmau

[C)  Oolong (D) None of these

68. TimfelfEa 1 3 fan som swen =1 gow 321 8 =« 6 argfd 56 6
EIGI -
(A)  FHedl B) g
(C) TR (D) =TI

Which of the [ollowing steel plants does not receive waler
supply lram Damodar river ?

{A) Kults (B) Durgapur

(C} Jamshedpur (D] Bokaro
pa.  wredid W we woe R

(A] 19609 (B) 19594

(C) 1972% (D) 1947

When was Doordarshan service started ?

(A) 1960 (B) 1959
(c) 1972 (D] 1947
70, fEEu # sy = o1 ware f2am 2
Ay C(B) I H EiEm
c) _feam # @ o D) &lam 5 IWm
\-JWhal is the direction of Now of nver Ganga in Bihar ?
(A) Eastto West (B) North to South
() Westto East (D) South to North
e

703/12029

Poge 21 ¢ 24

Scanned with CamScanner



